29

Roll No. Answer Sheet No.
Sig. of Candidate. Slg. of Invigilator.
MATHEMATICS $8C-|
SECTION - A 15
Time allowed: 20 Minutes (Science Group)

NOTE: Section-A is compulsory. All parts of this section am %0 be answered on the question paper itself.
it shouid be completed in the first 20 minutes andl hended over to the Centre Superintendent.
Deleting/overwriting is not aliowed. Do not use lead pensi.

Q.1  Circle the correct option i.e. A/ B/ C / D. Each part carries one mark.

(i) A matrix is skew symmetric if:

A A=4 B. A =-4 C. (4)Y =4 D. (A4Y =-4
(i) Real part of 2ab(i +i*)is:

A 2ab B. —2ab C. 2abi D. —2abi
(i) tf 10° =100 then:

A. 2=logl00 B. 2=log,,10 C. 10=log,100 D. 100 =1log, 10

3 g3
{iv) is egual to:
a—

A (@*—ab+b*) B. (& +ab+b*) C. a* + b D. at - b
(v) Factors of x* -x~6 are:

A. x+1,x-6 B. x—-2,x-3 C. x-lLx+6 D x+2,x-3
(vi) Product of two aigebraic expression is equal to:

A. HCF+LCM B. HCF-LCM

C. HCF/LCM D. HCFxLCM
(vii) x =0 is a solution of the inequality:

A x>0 B. 3x+5<0 C. x+2<0 D. x-2<0
(viii)  Which ordered pair satisfy the equation y=2x

A (1,2) B. 2,1 C. 2,2) D. 0,0
(ix) Midpoint of the points (2,-2) and (-2,2)is:

A 2,2) B. (-2,-2) C. (0,0) D. 11
(x) Two lines can intersect at points.

A One B. Two C. Three D. Infinite
(i) if two opposite sides of a quadrilateral are congruent and parallel, then it is a:

A. Square B. Rectangle C. Parallelogram D. Triangle
(xdi) Bisection means to divide into equal parts.

A One B. Two C. Three D. Four
(xiii)  Perpendicular to a line form an angle of: ‘

A 30° B. 60° C. 90° " D 180°
(xiv)  If the hypotenuse of an isosceles right angled triangte is s/fcm then each of the other side is:

A lem B. 2cm C. 3cem D. 4cm
{(xv) The altitudes of an isosceles triangle are congruent.

A OCne B. Two C. Three D. Four

For Examiner’s use only:

Total Merks: 15
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MATHEMATICS SSC-I 9
(Science Group)

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Attempt any twelve parts from Section ‘B’ and any thewe questions from Section ‘C’ on the separately
provided answer book. Use suppiementary answer shwet i.e. Sheet-B if required. Write your answers
neatly and legibly. Logbook and graph paper will be grovided on demand.

SECTION -
Q-2 Attempt any TWELVE parts. All parts carry equal marks. (12x3=36)
: 11 . . .
(i) If A= 5 0} then verify that 4 — 4'is skew symmetric.
(i) Two sides of a rectangle differ by 3.5cm and perimeter of rectangle is 67c¢m .Find the dimensions of
rectangle by using ‘Cramer’s rule’.

(4 0 -4 -2 . -1 _ pel g
(i) A= . B= : | then verify that (4B8)” =B A4

% X
v)  Simply 216" >*(25)" (_}2,5)

(0.04) "
(v)  Calculate z—% if z=2—>
2+ 4

(vi)  Find the value of ‘x’ if log,, 8 =§

3
(viiy  Use Log to find the value of (438) v0.056 “0‘056
(388)
2 _ 2 _ 2
(viil  Reduce to the lowest form 9x ~-(x -4)°
44+3x—x°

(ix) Solve the inequality 3x -2 <2x+1<4x+17
(x) Solve following pair of equatiens graphically 2x+ y=0 and x+2y=2

(xi) Simplify 2 + ! 2
Js+d3 SBev2 5442
i)  solve P—>%_1_2
3 3

(xiii)  Verify that the points A(0,7), B(3,-5), C(-2,15) are collinear.
(xiv)  Factorize (x+2)(x+3)}x+4}x+5)—-15

(xv)  Determine the value of ‘k ' if p(x) =k’ +4x” +3x—4and g(x)=x’ — 4x + k leaves the same reminder
when divided by x—-3

(xvi)  Factorize by factor theorem x* +5x* —2x-24

(xviiy  Find the H.C.F by division of x* + x* —=2x* +x-3;  5x’ +3x*-17x+6

(xviii)  Find square root of (x* +8x + 7)(2x* —x=3)2x* +11x-21)

SECTION — C (Marks 24)
Note: Attempt any THREE questions. All questions carvy equal marks. (3 x8=24)

Q.3 Prove that mid-point of the hypotenuse of a right angied triamgle is equidistant from its three vertices
P(—Z,S), Q(Is3) and R(ﬂl, 0)

Q.4 Any point equidistant from the end points of a line segment is on the right bisector of it.

Q.5 Inacorrespondence of two triangles, if three sides of on triengle are congruent to the corresponding three sides of
the other, then the two triangles are congruent.

Q.8 If the square of one side of a triangle is equal to the sum of the squares of the other two sides then the triangle is a
right angled triangle.

Q.7 Construct the triangle PQR. Draw their altitudes and show that they are concurrent.
mRP=3.6cm, msQ=30°, msP=105
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Answer Sheet No. 3 f

Sig. of Invigilator.
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MATHEMATICS SSC—
SECTION — A (Marks 15)

Time allowed: 20 Minutes (Science Group)

NOTE: Section-A Is compulsory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting Is not allowed. Do not use iead pencil.

Q.1  Circle the correct option i.e. A/ B/ C / D. Each part carries one mark.

. 2 6 .
(i) if l =0, the ‘x’ is equal to:
3 x
A 9 B. -6 C. 6 D. -9
(i) If x<yor x=yor x>yiscalled:
A Transitive property B. Trichotomy property
C. Symmetric property D. Associative property
(iii) The conjugate of 5+ 4iis:
A —5+4i B. -5-4i C. 5-4i D. 5+4i
(iv) The logarithm of unity to any base is:
A 1 8. 10 C. e D. 0
2 _p2
(v) is equal to:
a —
A (a—b) B. (a+b) C. a+b D. a-b
(vi) What will be added to complete square of 9a° —12ab
A -16b* B. 164 cC. 4b? D. -45
(vi)  Find‘m’ so that x* + 4x + mis a complete square.
A 8 B. -8 C. 4 D. 16
(viiy H.C.Fof @’ +b*and a* —ab+b*is:
A a+b B. a -ab+b* C. (a- b)Y D. @t +b°
. . , , , 3
(ix) x= is a solution of inequality -2 <x < —2-
3
A -5 B. 3 C. 0 D. >
(%) How many non-collinear points determine a plane?
A One B. Two C. Three D. Four
(xi) If measure of sides of a triangle are 3cm, 4cm and 5cm then triangle is:
A Obtuse B. Right C. Acute D. Equilateral
(xii) Which ordered pair satisfy the equation x=2y
A (1,2) B. 2, C. 2,2) D. 0,1
(xiii) Half length of diameter of circle is called:
A Radius B. Centre C. Tangent D. Mid point
(xiv)  Aray has end points.
A One B. Two C. Three D. Four
{xv) The right bisectors of the sides of an acute angled triangle intersect each other:
A Inside B. Outside C. On hypotenuse D. On base
For Examiner’s use only:
Total Marks: 15
Maerks Obtained:
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MATHEMATICS SSC-i
(Science Grewup)

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Attempt any twelve parts from Section ‘B’ and any thres questions from Section ‘C’ on the separately

provided answer book. Use supplementary answer shast l.e. Sheet-B if required. Write your answers
neatly and legibly. Logbook and graph paper wili be prewided on demand.

Q.2

Note:

Q.3

Q.4

Q5

Q.6
Q7

SECTION - B (Marka.gh)

Attempt any TWELVE parts. All parts carry equal marks. (12x3=36)
12
, ) 4 5
i Find productof | =3 0 [ ]
0 -4
6 -1
(ii) Scive following linear equations by using ‘Cramer's ryle' 4x+ y=9,-3x-y=-5
1 3

(iii) Find multiplicative inverse of A= 2 4
1 2

81"3° - ()1 (243)
" 3y

(v) Simplify and write answer in form a + bi

(iv) Simplify

1
@2 +3iX1-¥)
(vi) Find the value of ‘o’ if Log,6=0.5

{vii) Use Log to find the value of 2 ’-lelgbx—;ﬂz

x6 _ y6
(viii)  Simplify S—=7 = (x* + "% + y*)
. X — y

2

Simplify : + 2 + !
2443 5-43 2445

(x) Solve ’3_5x 1_2

"33
(xi) Solve the inequality 1-2x<5-x<25-6x
(xii) Factorize (x + 4)(x —5)(x + 6)(x—7)—504

(xii)  Factorize 25x> —10x +1-362°

(xiv)  Factorize by factor theorem 3x° — x> —12x+ 4

(xv)  Find the H.C.F by division of x* +3x* —16x+12, x* +x*—10x+8
(

{

(

xvi)  Find square root of x* —10x’ +37x* — 60x + 36
xvii)  Solve graphically x—-y+1=0 , x-2y=-1
xviii)  Find 'k’ given that the point (2,k)is equidistant from (3,7)and (9,1)

~ SECTION — C (Marks 24)
Attempt any THREE questions. All questions carry equal marks. (3x8=24)

The vertices of triangle are P(4,6), O(-2,-4)and R(-8,2). Show that the iength of the line segment joining the
mid-points of the line segments PR, OR is %PQ.

In any correspondence of two triangles, if three sides of on i@ngie are congruent to the corresponding three
sides of the other, then the two triangles are congruent.

If three or more parallel lines make congruent segments on a transversal, they also intercept congruent segments
on any other line that cuts them.

From a point, outside a line, the perpendicular is the shortest distance from the point to the line.

Draw the perpendicular bisectors of the sides of A4BC when mAB = 5.3cm, msA4A=45", msB=30".
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